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� 7�5	�������	��	�	�������������	���#���.	���������
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����	�����	��	�����	�������
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��
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�

� 4�# ��	������ ������	����� ��	8��9��:	#�������
���#����;

� 4�#	��	����	#��$	������	��������	�$��	���<��	����	���	
���#���	����	��	����$��;

� =���	��	���������
������� ��	����	�����	

��	���$	��<���	��������
>


���������	������	���	�	��������	���������

� ,���
-	���������

������	�5����	�����	��#	�������

� ,	���-	���������

������	����	��	$�� �������	�������

4�#	��� �$�	������������� �<��$���	��	,��<�-	

���	,����-	���������� ��	������?��;
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������� ����������

���<�������� �������$��.

� 
�����%	������� ��������

� ���.	������� �������� ����������� ��	�	���� ��
������ ��	$��	$��� �������� �������� 8423:!

� �����
���.	$��� ����� ����� ����� ��	�������
����A��	�������

→ =��	��������� ��	�����%	�5����� ���#����	

B


�������	���������� � !

����������� �������$��.
� ��������	�
����������
��
��
C<��5	����	���������	�	��������	��������5

� ������	�
����������
��
��
=�	�����������!	D���	�����	�5	������	�����$

"��������<�.	D��#������	��������

� ���
�������	�
����������
��
��

→ +����A���	���#���	�<��$���%	������5 ���	
���������5 �<��$���

���������5 ������5

*

"�������#�����������$	�������%

(���.

� 
������5%	�$��	#���	�������	#���	���	��5	
�����������������<��	�������%	������	
�$�	�����	��	���$	,��<�-	���	,����-	
����������	������<��5	�$���!

��

"�������#�����������$	�������%

'����.

� 
�<��	��	����A�5 ���������	���	�����$��	���	
����A�5 �����	�$����	��	�$���

� �������������	��	���#���	����	�������

� ��

�
�����	�

���������

���
�
�

A $������$���	���	�$�	����	�������	���	��������

��������	��	�����	������?�������	��������

A ��������� 
� 

���.	�9�����	�$�	����	�$��	���5

��<��	���	�����

��

&�������% ��	��������	�����������

�  ���� ��	���� ��	���#��� �����.

!
�� ���	"
��
 ����

� 
��	������������ ����� ��		����$A�$�������
������ ��	�	

���������������!

E	2�# #����A���� ������������� ����

E	2���� ���������� ��#�5� ���� ���� �$��
������	����!

The i‘th level regional directory tracks 

any user residing within distance 2i

from a searching node
��

'�%	�	����������	��	 �(

2�������	�$�	�����������	�����	��	�$�	�F�$ ��<��	��	�	
��������	��������5	��	������	�� ����#�	��.

� ����	�$�	�����	��	�������	�	����	������������	

��	��!

� �������
����� ��	�	,����-	���������	��	�	��������	

��	�$�	����F�	��������	����	�$�	�����$��!

� ���������������� ���
� ���	��	,��<�-	

���������� ��	�����	���	�#�5!
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�����)�����	��	�	*�������	+�������%

)�����?�����	�����	��	�	��

���������������.

� ����������	��	����	��	�����%	����������	��	�	����	���	
!
��#�$ ���	�	#����	���	"
��
#�$ ���	�<��5	<	∈ G!

� +$�	����������	3�	��	���	�����	��	����	���	#����	
����%	

3�	H	I3���8<:%	�����8<:	J	<	∈GK%	

��	��	�A��������	����$���%	��	

���	���	<%	�	∈ G%	�!�!	����8�%<:	≤ �!

�����8<:	∩ 3���8�:	≠ ∅

��

 �	�����	���	����	*������	

��	��� �����

�1


��	�����

� ���������%	����������%	#���$���	����$	(	H	8G%C%#:%	

JGJ	H	�

� "
�����%#
$ ����������	�$�	�����$	�	����	��	������������	
�	�����	������� 8��	�����$	)8���	�: ��	����	�

�  ������������	�������������	�$������

� "�����	
		���
���
�������	�������
� ���<����	�5	�$�	
�5����

� ����#�&%$'

�����$	8#���$�:	��	�$������	���$	���#���	�	���	#

� ����
�

�(#�$'

��9����	��������	���#���	��5	�#�	<�������	��	(

� )���������	���	���������	�����


���� ���	
������
�������

�>


��	�����	� !

� )��
#ξξξξ$.	�������	�������	��	����	ξ

� (�

���
���

�

�(.	�����������	����	���������	
����������	�$�	����������.

A D���8ξ%<:	

A 
�<�8ξ%�%�:

�$��	��	�$�	,���
���
����

�
��- ��	�$���	�#�	
����������%	��������	��	�$���	�������	����� 8����

����������� �<������� ��� ����:;

�@


��	�����	�,!

� ��������	��9��	��L�����	σ ��	
�<�	���	D���	
����������

� D8σ:.	�����L�����	��	���	D���	����������	��	σ!

� 
8σ:.	�����L�����	��	���	
�<�	����������	��	σ!

� ����8π:.	
��	��	�������������	�����	��	���	
�������	�������������	���������	������	
�9�������	��	��������	π!

� �������

��� ��	�.	

� ���
���

��� ��	�.	

( ) ( )( )
( )( )σ

σ
σ

FCostOpt

FCost
Stretch

find
_

=

( ) ( )( )
( )( )σ

σ
σ

MCostOpt

MCost
Stretch

move
_

=

�B


��	����	*�����

+$�	$������$����	��������5	���<��	�	
����������.

� 
�����$���� H	

� 
�����$��<� H

� 
����5	��L��������	M����N	H	

�$����$���	�$�	���#���%	���	$�������	=	
�����%	#$���														!

( )nO
2

log

( )nnO log/log*
2δδ +

( )nnNnNO
22

log***log** δδδ ++

( )� �GDlog=δ

D(G) = 

Diameter

*#(
�

��+!��

��$

*#(
�%
��
+
!��%
��
+δδδδ,�

δδδδ-.�����$
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-�	����	����	��	���(

� �������������	�<��$���	��	�$��	��������	
���$�����	��	#��$��	�	���5�������$���
������	��	�$�	��#��	�����!

� (���������	�<��$����	#$��$	���	
 �������
������ ��	�$�	��/
 ���	
����
�

 ��	�$�	���#���!

� 
���	�������$	��������	��	���<��������	
��$����.	�������������	��	�������� ��	D���	
���	
�<�	����������!

��

,�	.	&�����������/	+����������

+�������%	���������

��

.	+����������	+���	���������

� 
�����	��������	��	���������	��	���$	����	��	
<������	�����

� &�������	����	��	��	�������	��	�����	��<�

� "���#	����	��������	��	��	����������

,'������<��5%	��������	��	���������	�����5	��	�$�	

����%	#$���	������	�5	�$�	����	��	������<��5	
�$���	%	���	��L�����	��	��	����	��������%	
#$�����	��������	��	�������	���������	���	�������	

����	�����!-

��


��	&�����������	+�������%	���0��	+

� ��������	��	�	$������$5	��	



���������

���
�
��!(� 8�≤ �	≤ δ:

� 3�� ��	��<��	�	��	�$�	$������$5	�������	�	
�����$��	��	�����	��5	����	ξ #��$��	��������	��

����	��!

� +$�	�������	������	���	����	ξ ��	3�� ��	������	
�$�	����F�	�F�$ ��<��	��������	�������.	
!0���
�#ξξξξ$1�

'�	������	�$�	������� #$��� ξ ��	��������5	
�9������ ��	��!

( )� �GDlog=δ

��

-�������������	��	�	*�������	

+�������%	*+�

 ����	��	�#�	����.

� "
��
�#�$.

"	����	<	�������	�<��5	����	��	$����	��	���	
�����	��	����	���������	#����	���%	
������8<:

� !
���#%$.

"	�����$���	����	#	L������	���	�����	��	
����	���������	����	���%	3����8#:

��

w v

 �#*�������	���������

� 3����8#:	���	������8<:	���	����������	��	���������	
#$���<��	<	���	#	���	#��$��	��������	�� ��	���$	��$��!

≤ 22

Read sets of node w Write sets of node v

User ξ at 

node v, 

Addr(ξ) = v

Ex: i = 2

Level 1 

(RD1)

Level 2 

(RD2) 

Level 1 

(RD1)

Level 2 

(RD2)

Where is 

user ξξξξ ?

RD of 

w

R_Addr2(ξξξξ) = v
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 �#*�������	���������	� !

� D���	���������	��<����	��	����	#	��	

����������	��	�������	���5	��	

����8#%3O"���8ξ::	≤ �!

� 4��$���	��<��	3�δ ��#�5�	��������P

� �( ))(log
2

GD
m ≤

-��

���������������
� � )(22

)(log
GD

GD ≥=δ

� �$��	��	��������	���#�;

� �$��	��	3O"���8ξ:	��	���	��	����;

3O"���8ξ :	≠ "���8ξ:	

�>

"1��2������	.��������$

� �$���<��	����	ξ ��<��%	��	�$����	������	���	
��������	��������5	3�� ��������
�
��!

� +��	�9�����<�P	

/��	,D��#������	"���������&�������-

� /�����	���5	����� ��#���	��<���
→ �$�	��#��	�$�	��<��%	�$�	����	��A��A����	��	�$�	��������	

�������!

� 2�#	�������������	������9��5%	���

� 3O"����8ξ:	���$�	��#	�����	��	��	���	�������	��	ξ

�@

"1��2������	.��������$	� !

u v

d

Level 1

Level (log d)

s

Where is 

user ξ?

Forwarding pointer
user ξ

�B

"1��2������	.��������$	�,!

� "	���#������	�������	������	�� ����	����	
������	�������	��	����	ξ!

�  ��	�$�	����	���$�	$�<�	��<��	����$��P	

� ������

��	�$�	�����	��	��������	���������	��	

����	ξ!

� 3O"����8ξ:	H	"���8ξ:

( ) ( ) ( )ξξξ δAddrRAddrRA _,...,_ 1=

�*


��	*����������% -�0������

+$�	�����	��	��������	���������									
���������	�$�	����$������5 ��<������	��	���	
�<��5	��<��	�	≤ �	≤ δ%	��	��5	����%	

3O"����8ξ:	������	�	�������	D��#���8ξ:	
��������	��	�$�	<����9	3O"����A�8ξ:!

( )ξA

��


��	���3����%	��0������

� 4�#	���	�������������	�	�
%�
�����
 ����

� ��	�<�����;

� =��� � ���
��
������� #$��$	�������	
�$�	��������	���������	���L�����5	�����$

� ���
��
�#ξξξξ$.	

������	���������	���$	���<�����	�5	ξ ��	���	
���������	����	3O"����8ξ:	��	���	�������	
��������%	"���8ξ:!
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��	���3����%	��0������	� !

+$�	��������	���������	3O"����8ξ:	������5	
�$�	���9����5	��<������	��	���	�<��5	��<��	

�	≤ �	≤ δ%	��	��5	����%	�$�	��������	
���<�����	�5	ξ �����	�$�	����	����	
3O"����8ξ:		#��	�������	��	3�� ���������

( ) 12 1 −≤ −i
iMigrate ξ

��


��	���3����%	��0������	�,!

"	����	��������5	$������	����	ξ $��	��	��������	
�#�	����	����������	��	�����	��	���������	�$�	
��<������.

� 2� �
��	�

����������

��
�.	

� 2� �
��	����
�����������

�.	

C��$	��8ξ:	������	��������	���<�����	�5	ξ �����	
����	������	��	3O"����8ξ:

→ C������ ��	������	#$��$	��������	���������	

����	��	��	�������	�����	���$	��<�	��	ξ!

( )ξA

( ) ( ) ( )ξξξ δCCC ,...,1=

��

��������	��������	���������

�$���<��	����	��<��	����	�	����	�	��	�	����	�.

�! '�������	���	���������	��������	�� �5	����8�%�:!

( )ξA

( )ξC

'�	�$�	$��$���	��<��	������� �Q ����$��	���	�����	

�����	8�0A�A�:.

�! 
��	���#������	�������	��	3O"���0E�8ξ:	
�������	��	�!

�! /�����	�$�	��������	��������5	��	��<���	�	��	0.	

��	3O"���8ξ:	H	�!

�! 3�������	����	ξ �����$��	#��$	���	������									
���

�
�3����������
����

��

43�����

x4 stores:
( ) 122344 ,,,,, xxxxxxA =ξ

( ) 25,5,5,3,0,0=ξC

v

x5 stores:

( ) 122555 ,,,,, xxxxxxA =ξ

( ) 26,6,6,0,0,0=ξC

x5

dist(x4,x5) = 1

�1

&�2	���	��������	���������	

�����������	�����	���(

�  ����	��	�$�	�������	��	� �
�
��
� �����

�'�

��<��	�	����$	�5	��#A������	��������	#��$	������	�<�����

� "	����$���	���	��	�����������	���	��	�	��<��	#��$	����	
������	���	������!

� +$�	������������	��	�	$������$5	��	��������	����$����	
�������	��	�	���������������������������	�

*#4����5�$

������������	��	�	��������	����$���.

�! 
����	#��$	�A����$����$���	��<��	=�8G:	��	�$�	����$

�! ���������	�	����������	��<��	� ���	=�8G:	

�! 
�����	�	������	�8+:	��	���$	�������	+	∈ �!

�! 
�����	���	�<��5	����	<	���	�������	+< ���	���

�����8<:	H	I�8+<:K	���	3���8<:	H	I�8+:	J	<	∈ +K

�>

-��������	����������	��	�	��������	��������

� 
�����.	��9����	��������	����	�	����	��	��5	
��$��	����	��	���	����	��	#����	���!

� �
�


.	��9����	������	��	<�������	��	��5	����

��	#����	���!

� �������������	�<��$���	��	����������	����	���	
��<�	����������	��	�	3�� ���#�	��	�$�	�������	��	
�$�	������	���	�$�	������	��	�$�	�������	��A
��������	����$���!

� +����A���	���#���	�$���	�#�	����������

8������������ ������?����� ��	������ ���	������
���	�	������<��� ����:
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�@

5�	&�������	����������	.�������

�B

&�������	����������	��������

� 
�<�	���	D���	����������	����	����	����!

� )��	������ ������	�$��	�$���	��	�����$	
����	���	�5����	��	��������	��	���������	
������	�������	�	��#	��L����!

� �$��	��	�������	��������	��	�������	�	
����	%���
��
 ���������;

� �$��	��	�$��	����	

 
��
�������
� #$���	
$� �� ����� �����$��;

�*

�������������	��	���	�����

'�	�$�	����������	����%	�$�	�#�	������	��

�$� D���	���������	�����	��������.

� D����	�����.	3�����<��	��	��������	�������

�
�
���	�
����

�������	���

� 
�����	�����.	+������	�$�	����

�
���
�������
��

��

��������	���	1���	���������

� 4�<�	��	���������	�$�	������<��	��	
3O"����8ξ:	��	����	ξ �<��	#$���	�$��	
�������	��	�����	�$�����!

'�	�$���	�	�������	��	���;

��

.	�%�����	"��������% �������$	��

��%���������	�%�����

C9�����	��������.

� ��������	����	<	��<�����	�	D���8ξ%<:	#$���	3O"����8ξ:	��	
�$�����	����	�F ��	�F!

� "�����	����	��L�����	����	<	��	�����	

�	∈ 3����8<:	∩ ������8�F:	��	��	<��5	���# ���	$����	
����$	�	���5	�����	��	$��	������	���	�������	��	�F!

� "�����	����	��L�����	����	<	��	�����	

�	∈ 3����8<:	∩ ������8�F:	��	��	<��5	���� ���	$����	����$	
�	������	��	����	�	�������	��	�F!	
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������$��	�$�	����������	��	�A��������	
����$����	�5	��	����������	��L��������.

D��	�<��5	<	���	�%	��	����8<%�:	≤ �	�$��

!
��#�$�⊆⊆⊆⊆ "
��
#�$

C<��5	����	��	3���8<:	�$��	�������	��	�F ��	
����������	��	 ��������
���

��6 �
��6 �������
���
 ������	�$�	��<�	���������!
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���0������	�������	������	�����	

���2������	��������

� '���.	
����$��	��	����#��	��	,����-	�$�	����	
#$���	�����$���	���	$�� ��	��<��	�	���5	��	�$�	
����	��	��������5	��	����������	��	�	��#	��������	
����$��	�#�5	�$��	��������	��!

+$��	�������.

�! 
����$��	�$����	������<�	�	8���:	��������	
������� ��	�$�	����	��	��<��	�!

�! +$��	�������	�$����	����#	�	,�$���-	�$���	��	�$�	
����!

��

���0������	�������	������	�����	

���2������	��������	� !

+$�	���
������
��

7��

�
��.

� /���	ξ ��	���	����#��	��	�����$	�	��#	��<�
#$��$ ��<��<��	��������	��������	
�����������	��	��	��<��	�%	������	��	��	�����	
�5	�	�����$��	�$��	$��	������5	�����<��	
����	3O"����8ξ:%	

���	�	≤ � E	�!

� ���	�� �����������	#��$	�	���8����
�
�������!

�1

6������	��������

� '�����������������	��	�	��#	����	�������	��	
$��$	��������/����������� ��	

)8�8(:	���	�:!

� &��������	�����	�������	�	�������
�
�%�
8 #$��$	��
���������
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�
	����
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 → �	���$�����	��	��������5	��	�����	�$�	
��������	���������	��	�������	�������5!	

� &�������	���$��������	��	
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43����������	�������
� )<��	B��	�������5 ��������� ���#����	��	
��?��	�>	��	����	�����	#���	����5?��!

� 3���	���	��?� ���$ ������� �$�� �$���������
����� ����� ��	�	�����!

A 9��
�
��
�%�
8�.	

����	��� ��?� ��	��5 ��<�� ��	���� �!

A �
�� �
�%�
8� 8��� �%	�L��� ���������:.	

��9!	���� ��� ��?� ��$��<���� �� *!

� ������������� ������9�����.

D'=�.	


)GC.	 ( )nO 2

2
log/δδ +

)1(O

�@

������%

� &������� �������5 ����� ��	$������$5 ��	��������	�����������	

→ ��

����������������

� 
���	�������$.	��������� �������� ��	D'=�	���	
)GC


� ������������� �<��$���	%����� �� �������
������
	����
 �	���
 ��%

 �����!

� "��������<�	��	��������?��	�������$��	���� ��	�
�����

�
�%�
8�;

� =��	�������� ��� ���$��������� #��$ ��	����9������ ��9��A
���#���	�������������� #$��� ����A��������<��5 �� ��������
���	��������� ��� �������� 8��������
�%�
8�$!

→ 7��
�������
��
�B

7��������	���	+���������


